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381 | 13:15[~ 3 & | 654k | 483k (3KG) A s ey
382 |13:15[* 3 & | 704k | 483 (3KG) A s mos
383 | 13:15[~ 3 & | ok | 487k (3KG) A s mos
384 113:30| 7 5 & [ M24g&k = | 3000MHise AE [E g E
385 [13:30] § + | 35%& = [ 3000Mmismt A T T
386 113:30| 7 3 & | 40%& % | 3000MH& S I e e
387 113:30| 7 3+ & | 45%& % |  3000MHi& i I s
388 113:30| 7 + & | 50% % | 3000MHi& S I e e
389 113:30| 7 + & | 554 % | 3000MHi& i I s
390 | 13:50{~ 3 = | 30k« [ 2000MHe A | e
391 |13:50] >+ | 35& %= | 2000MHis g | ips
392 |13:50] * 3 @[ 40%& %= | 2000MH 5 A |Eseomipss
393 [13:50] + + = | 45% & | 2000MHisz e e e o
394 |13:50] * + | 55& %= | 2000MHis AE [ E
395 |13:50{~ 3 #= | 60« [ 2000MH e A | it
396 [13:50| * 3 = | 65%& = [ 2000MHs= A | A
397 |13:50{ 3 + = | 60« [ 2000MH e e I e e
398 |13:50{ 3 + = | 65k [ 2000MHe A | Es
399 |13:50{ 3 = = | 70k % [ 2000MHe AE [ p
400 [13:50] 9 + 2| 5k | 2000MHis A [£24 s Eod
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